| Efficiency vs Dxy |

>.0.02r : : : :
< : : E E
D018 b
Z C : : : p
10 1) IR SOOI SOPURO SO i
c E : E :
B.014f b
= S R
D.012F e S —
0.01 --------- ........ .....
0,008+ -wrrwsooes
0.008f it :
0.004f-+-wwsprrrrrsst--

007 S S SR S

Ratio

1.9

0955151

510 15 20
TP dxy (cm)

| Efficiency vs Dz |

~n 0.05 : :
© : : :
D). 045wt ;
> : : :
S0.04f oo s :
Q : : :
D.035f v
3 b
0.03F oo R g
VX071 S S
0.02f it
0.015F 1.7
0.01 {1111t
0.008f{[-{f

Ratio

Ig(j};’gl Yb&élldlveblul 1660evt

%%%ié%ﬁ FELRYLTLIERS 1000evt

..............

1Q

r : |14 :
C o LT ELL
LI ; q & i

20 30
TP dz (cm)

10




	Contents
	Page 1


